R 48 8pm1m8 s 2021 1 288 (-) 5- =<3

\\\ﬁr
e
=
4

B gy A

1 3 s B3 s > f230
(1) xsinydx+ (x* +1)cosydy =0, y(1):% (7%)

(2) (x> =xy+y*)dx—xydy=0 (7%)
(3) (x+2y—-4)dx—(2x+y-5dy=0 (7%)
(e %= ODE » £ * S Hc 2 £i7)

2. © arpies A2 5 (—xysinx+2ycosx)dx +2xcosxdy =0 0 FER A AR
F LS (exact)gv ?L_ﬁ £ 7(2%) FrID 8k AR o (T%)

3. ¢ apeAs AN 2y —(1-2xy)y' =0
(1) oA = 2N 2 M 2L (2%) ¥ - pEsREE KR o (T%)
(?*ﬁﬁ’ﬁﬁﬁﬂ:“ﬂﬁH’Mﬁﬁﬁﬁﬁ’ﬁﬁ@)
(2) #BeA AR 5 & (exac) & 2R &2 (2%) 4D £ KfR o (T%)
(FE g BRRE #2206 LRI FT o L 13

4. = FopcA S FEN G xz%ererxzy2 =1
X
(1) 5 e AE%E A 2 Mk > 42582 (Clairaut ~ Bernoulli 2 £_Riccati) (2%)
(2) 2 5 AR «Lfﬁll“i? (2%)
(3) @R HA » AN 2 f2y(X)=? (T%)

5. © AHCA S AR L y=x"+(Y)
(1) 5 AR A 2 sics = 42557 (Clairaut ~ Bernoulli 2 &_Riccati) (2%)
(2) ¢t & M 2ERPE? (2%)
(B) @Iyt * 2 2 fR2y(X)=? (8%)

6. FfET A LA AR
Q) (x+)y'+y=Inx, y@=-1 (7%) (110 = = + &)
(2) (6x° =x*y)+(=x*+x?y?)y'=0, y(0)=3 (7%) (110 > = 3 *)
3) 2(y) -y’ +x)y'+xy* =0 (7%)

7. 311 g+ 46 (Picard method) 42 y'=2y?, y(0)=1 (B3 vy,7%) (8%)

Filename: EMI-2021-mid01s.doc ~ by Y. T. Lee November 10, 2021

&
A



<$TfRE>

1o A g K™ s * 250
(1) xsinydx+ (x> +1)cosydy =0, y(1) :% (7%)

(2) (x> =xy+y*)dx—xydy =0 (7%)
(3) (x+2y—-4)dx—(2x+y-5)dy =0 (7%)

(1) xsinydx+(x* +1)cosydy=0 =Y dy=——2dx
siny X +1
: cosy X
A A 2y = dx
(3 B4t ):jsiny y=-f =

1 . 1 1
——d(siny)=-= d(x?+1
:Jsiny (siny) ZIx2+l ( )

= Insin y| = —%In(x2 +1)+InC

1
= (x* +1)2 -siny=C

x y(1):% =C=42

1
S (X2 412 -siny =+/2

2_ 2
(2) (x* —xy+y*)dx—xydy =0 :ﬂ:w — =74 ODE
dx Xy
:ﬂ:1—1+l
dx vy X
roy=Y = Yy = UX :ﬂ:x—+u % ODE # ¥
X dx X
du 1 du 1-u
X—+U=—-1+U =>X—=——
dx u dx u
= Y qu=—Tdx
u-1 X

e u ol
(b:“i éf‘g‘&) :)IEdU——J‘;dX
= U +Inju-1 =-In|x|+In[C|

= U =—Inju—1|-In|x|+In[C|

Filename: EMI-2021-mid01s.doc ~ by Y. T. Lee November 10, 2021



C
x(u-1)
= X(u-1)-e" =C

=u=In

y

= (y-x)-ex=C

(3) (x+2y—-4)dx—-(2x+y-5)dy=0
Oy _x+2y-4
dx 2x+y-5

£ X=u+a =dx=du
y=v+b =dy=dv #w ODE+ &
av _u+2v+(a+2b-4) N a+20-4=0
du 2u+v+(2a+b-5) 2a+b-5=0
v _U+ 4 0DE
du 2u+v
v
d__1+ZG
du 2+!
u
dt . ,
£ t=— =Sv=ut = —=t+u— *» ODE+ #
u du u
dt  1+2t dt  1-t?
t+u—-= =>U—=
du 2+t du 2+t
2+ g =Ly
1-t u
10,3 1 1
3 ffFEL) == |(—+—)dt=|=du
(5 24 ) 2j(1—t 1 Iu

= Z(3Inft—t+ Inft+t) = I+ InC,
= (-3In[L—t|+ InfL+t)) = 2Inju[ + 2InC,
= -t -p+t=C-u?

v 3
1+—
u

T
u

= =C-u®.

:>|u +v|:C-|u—v|3

=x+y-3=C-[x-y-1’

a=2
=
b=1

Filename: EMI-2021-mid01s.doc ~ by Y. T. Lee

November 10, 2021



N
[

Frfes 238 5 (—xysinx+2ycosx)dx +2xcosxdy =0 » ZEE g AL 2 AR
FAR &(exact)d 2R £?(2%) F U R & KfE o (T%)

(FR &> ERAE; F2L L ARUFA TS £ 1f3)

. oM :
£ M =-xysinXx+2ycosx = ——=-XSinX+2C0SX

N = 2xcos x :@:Zcosx—msinx

OX
d 2] g7 ;0 aﬂia_N ¥iaros gt L 2Er £ ODE
OX
1 oM ©ON sin X , y
A= (—-—)= aeouos o u(X)
N oy oOx  2cosx
ldy:i(@—@)dx — idyzji(ﬂ—@)dx
U N oy ox Y7, N oy ox
1 ¢sin x 1
= In = — dx = — —=Injcos X
|ﬂ| ZJcosx 2 | |
e 1
A/COS X
S A R
—xysmx+2ycosxdx 2XCOSXdy:O

+ e —
A/COS X A/COS X

d >t pier £ ODE

R W=?:2x«/cosx = ¢ =2xyJeosX +g(x)

y

—  O¢ —sin x

M ==L =2y+/COSX + XY - +0'(x
pois y roox g'(x)

i v E g'(X)=0 = é(X,y) =2xyvcosx =C

-

3. v arieA G N E Yy -(1-2xy)y'=0
(1) 8 HcA 235 5 S & 2LSUE? (29) 3 04— PESLELSE 172 o (T%)
(Fi&b > 2R FARE MEHEIRE L £3)
(2) A S AR 5 R & (exac) R 2R £7 (2%) £ 4R &k KFE o (T%)
(Fr & Efffr; F2n & ARIFLFF > L £f7)
M) y-a-29)y=0 =Y

2

dx_1—2xy
dx _1-2xy
dy y?

dx 2 1
= —+—X=—
dy y vy

Filename: EMI-2021-mid01s.doc ~ by Y. T. Lee November 10, 2021



i

PSS L TRV T3 IR
RRESEL SRSV LT IR

2
_ efp(y)dy _ ehdy _ a2l _ 2

k= 51+ y

P\—"?&T\ﬁg/”\ F]+ {6 ¥ {F
2 dx d 2
y —+2yx:1 =—(y'x)=1
dy dy

= y’x=y+C

(2) y?-(1-2xy)y'=0 = y?dx—(1-2xy)dy=0

£ M=y? M 2y
oy
—(1—2xy) = —=2y
\:} }|J§’?;\ @:ﬂ i Il'L < ODE
oy oX

=y =¢g=xy’+f(y)

LA M p e AR 5N
e Al 3

N = ey =—(1-2xy) =>g¢=-y+xy*+9g(x)

WS T A H(XY)=-y+xy? =C

4. © Aefch S RN x2%+xy+x2y2 =1
X
1) #
(2) - 5 A& 2 IE? (2%)
() BRpr A, RIALFEY(X)=? (T%)

w

w

(1) xzdy+xy+x y? =1 :ﬂ:_iy_y%riz
dx dx X X
# % Riccati ODE
(2) &

(3) d MA@ 2 S=—1

X
11,1 gy 1
2

£ y=S+—=—"+ == v

\Y x V dx x° V
1 V' 1,1 1 1
T O

xw ODE ¥ #

P fEEE 3] 2 A 4258 ? (Clairaut ~ Bernoulli & £_Riccati) (2%0)

13

Filename: EMI-2021-mid01s.doc ~ by Y. T. Lee

November 10, 2021



5.

1) ¢
(2) B>+ #4 i+ ODE

Q) y=xy'+(y)’

Vio11 21 1

j__
V2 xV xV V?

:>V’+£V=1 — P i - [E&E ODE
X

1
d —dx
?:rrgﬁ/,} 3 % ﬂ:ejp(x)x:ejx :elnx:X

kA A FS T @ XV +V =X :di(xV)=X
X

= XV =£x2+Cl

:>V=1x+Cl1
2 X
y—S+1———+ 1 ——1+ 2X
Vv 1.0l x x*+C
1

A RN Y =Xy +(Y)

(1) s+ 5 P fAEET) 2 el > 42382 (Clairaut ~ Bernoulli & &_Riccati) (2%)
(2) 3 af s 2bas? (2%)
(3) #Fptika A2 fRy(X) =7 (8%)

% Clairaut ODE

.477

p=y =y=xp+p’
#ed B X s T E Yy =p+xp +2pp’
=S p=p+xp +2pp’
= (x+2p)p'=0
d p=0 =y =p=c fw y=xy'+y?
7 y=xc+c® (i f2)

¢ Xx+2p=0 :>y’=p=—§ mw oy =xy'+y?

Filename: EMI-2021-mid01s.doc ~ by Y. T. Lee November 10, 2021



6. #FfiFT A LA AR
Q) (x+)y'+y=Inx, y@=-1 (7%) (110 =+ * *)
(2) (6x° —x*y)+(-x3+x%y?)y'=0, y(0)=3 (7%) (110 5+ 3 *)
(3) 2(y)* - (2y* +x)y'+xy* =0 (7%)

1) (x+1)y'+y=Inx :>di[(x+1)y]:lnx
X
:>(x+1)y:IInxdx:—x+xInx+C
1
= y=——-(-x+xInx+C)
X+1
Ay =-1 :>—1=%(—1+C) =C=-1

y(X) :i(xlnx—x—l)
X+1

(2) (6x° —x?y)+(—x* +x°y?)y'=0
= (6x°dx — x*y dx) + (—x*dy + x’y?dy) =0
= 6x“dx — ydx — xdy + y*dy =0
= 6x*dx—d(xy)+ y*dy =0

:>I6x4dx—fd(xy)+fy2dy:0
6 s 1 s
=X =xy+=-y’=C

:>5 y 3y

A y(0)=3 =C=9

6.5 1.3
=X =XyY+=y =9
5 y3y

() 2(y)?-(2y*+x)y +xy* =0
=2y -x)(y'-y*)=0

Filename: EMI-2021-mid01s.doc ~ by Y. T. Lee November 10, 2021



7. 3 r4 g + 46# (Picard method) &2 y' =2y*, y(0)=1 (33 y,) (8%)

%: f(x,y) =dy=f(x,y)dx
X

= jyy dy = j f(t, y(t))dt

=y =yo+ [ Fty@)at
Yo =Y(0)=1

Vo=Yo+ [ F(tY,(®)dt=1+ [ 2t =1+2x
Y2 =Yo +IX f(t, y,(t))dt =1+.[X2(1+ 2t)? dt =1+ 2x + 4x° +%X3

Ys =Y +j Y, () dt=1+ [ 2L+ 2t-+4t +§t3)2 dt =1+ 2x+4x7 +8%°

32 , 32, 64 , 128,
+—X'+ =X +— X +—X
9 63

y=limy,

nN—o0

Fig: y =2y =y?ldy=2dx =-y'=2x+C =y=-
2x+C

x y(0)=1 :>1=—% =C=-1

=142X+4x* +8x> +16X" +---

Y =10k

Filename: EMI-2021-mid01s.doc ~ by Y. T. Lee November 10, 2021



